
Quantity Departure Return Notes

Date:

 

Lab Manual 1 in van

Lab Documents folder 1 on counter

Door keys (one w/lab "driver", one at UECVP) 1

 

Cable pass covers & gaskets (in place for shipping) 4

Window covers (in place for shipping) 2

Cable pass cowlings (in lab) 2

Ship power cable (inside lab) 1

NOS-30 fuses (in supply box) 3 (3) installed in panel

NOS-40 fuses (in supply box) 6

LRU-666 Fuse Adapters (in supply box) 6 Installed on NOS-30 Fuses

FW Supply Hose (blue/inside lab) 1

SW Supply Hose (green/inside lab) 1 (1) sink

Drain hose (inside lab) 1 (1) sink

Small sink drain hose (in lab) 1

3/4" DIA supply Cam-lock fitting covers (in place for shipping) 6

1.5" DIA drain Cam-lock fitting covers (in place for shipping) 5 (2) deck, (3) plumbing

Plastic clean benches w/ lab counter top (one with sink) 4 In clean area

Sink Module 1 in vestibule

22" x 48" Counter Modules (w/o drawers) 1 in vestibule

Fire Extinguishers (installed in vestibule) 2 (1) CO2, (1) Dry Chem

First Aid kit (installed) 1

Notes:

UECVP Clean Laboratory #2
Silhouette Steel Inc. S/N 2407-01

Clean LAB EQUIPMENT INVENTORY

The items listed below were provided with the Let Lab and were in good condition when the Wet Lab departed the UECVP.  They 

are to be returned with the lab.  The costs of any missing or damaged items will be charged to the user. If there are any problems 

they should be reported to the UECVP Manager Timothy W. Deering (302-645-4338, deering@udel.edu).

Continued on second sheet



Quantity Departure Return Notes

Uni-Strut & related hardware (in supply box):

  1/4-20 Zinc plated nut w/spring for 13/16" strut ~15

  3/8-16 Zinc plated nut w/spring for 13/16" strut ~15

Stainless Steel (304) hardware (in supply box):

  1/4-20 Hex Head Bolt ~15

  3/8-16 Hex Head Bolt ~15

  1/4" washers (lock and flat) ~15

  3/8" washer (lock and flat) ~15

  1/4-20 SS Eyebolt ~15

  3/4" Screw eyes ~15

Plumbing Fittings (in supply box):

  3/4" female cam-lock to hose 0

  3/4" male cam-lock to hose 0

  3/4" cam-lock cap 0

  1.5" cam-lock cap 0

  3/4" female hose 0

  3/4" male hose 0

Notes:


